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A N K 2N & T
1 2 3 4 5
A 2 B17 52K BER Wi B
am B2 8 Lep JIlE B17 SHY
pm B# = Lep Lep BER BER
am CZ K2 Wi K K52 E=g
pm D52 RER B/ JIlAE 06 -
5 B - - B - -
7 8 9 10 11 12
A 2 Wi 5K 5K BER Wi F
am B 2K A Lep JIlE B17 SHY
pm B# kv = Lep Lep BER BER
am C2 {Ks2 iKs2 i Il K52 iz
pm D32 A BER 17 JIlE K52 -
5 B A - - B - -
14 15 16 17 18 19
A 2 BY7 inYiN RER Wi Wiz (%)
am B 2R Lep JIlE BY7 SHY
pm B - = Lep Lep BER RER
am C# K52 Wi 2K K52 Wiz
pm D& BER B17 JIlE K52 -
5 B - - B - -
21 22 23 24 25 26
A 2 Wi B17 K BER WiE A
am B2 TinYiN A Lep JIlE B17 SHY
pm B# B3] = Lep Licp BER BER
am C2 {Ks2 Ks2 Wiz Wiz {Ks2 =
pom Dz B BER kY JIlE K52 -
5 B E N - - Ao - -
28 28 30 31
A 2 Wi Ba17 YIN RER
am B2 YN A P JIlE
pm B2 B3] = Lep Wep
am C (K52 K52 iz K
pm D& A RER B17 JIlE
5 B A - - B
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